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L=+ (2.45)

V3 = UV + Uy Vy (2.46)

W3 =l + Uy 0y (2.47)
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(21 = Wz XV — W1 XV, (2.48)

T3 = (V21" VN3 + n X 0;;) (2.49)

$3=—(n-qz1)/(vo; " T3) (2.50)
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ky = (021 X V21)/V21? = Va1 X (Va1 X Q20)/{(§5 + 1) (v212)?} (2.51)
ky = (021 X V1) /Va1? = Vo1 X (Va1 X Q20)/{(§3 — 1) (v212)?} (2.52)
ks = (w21 X V21)/Va1? = Va1 X (Va1 X G21)/{§3(v21%)?} (2.53)
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o1 =1/(§s + p2) = 1/{—(n- q21)/ (V21 " T3) + u2}\
0 = =1/(& — 1) = 1/{(n - qz1) /(o1 - T3) + pa} (2.54)
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ho1 = 132 (- qQz1) /[{12 (V21 * T3) — (0 q1)3{pg (V21 - T3) + (0 q21)]]
(2.55)
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cosog=(n- OTi)/r (10
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